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QUESTION 1

You are greening your data centre. Which of the following is an initiative that should complement your project?
A. The Product Design Strategy.

B. The Sustainable Building Strategy.

C. The New Building Strategy.

D. The Carbon Offsetting Strategy.

Correct Answer: B

QUESTION 2

Which of the following BEST describes the payback period of a Green IT programme?
A. The time taken to realise the programme benefits.

B. The time taken to repay the original investment.

C. The time taken to raise the budget for the programme.

D. The time taken to reclaim any budget overruns.

Correct Answer: B

QUESTION 3

What action can you take to reduce the power consumption of your data centre?
A. Shut down servers out of business hours.

B. Replace small servers with larger ones.

C. Reallocate under-used servers to run active services.

D. Upgrade servers to always run the latest software.

Correct Answer: C

QUESTION 4

Which of the following is an action you should take to ensure that your suppliers are complying with your Green IT
policy?

A. Regular unannounced site visits.



B. Publish the policy on your website.
C. Test a random selection of products.
D. Provide input for their green IT policy.

Correct Answer: A

QUESTION 5

What is the benefit of creating virtual servers?

A. To increase the number of PCs connected to the server.

B. To reduce the power needed to run the server.

C. To permit the server to power down when not in use.

D. To allow better use of the server capacity.To allow better use of the server? capacity.

Correct Answer: D

QUESTION 6

Which of the following is a greenhouse gas?
A. Methane

B. Argon.

C. Nitrogen.

D. Helium.

Correct Answer: A

QUESTION 7

Which of the following actions should an organisation take to help realise the marketing value of green IT?
a.Provide public disclosures of their environmental impact.

b.Redefine their business strategy to include green initiatives.

c.Ensure all advertising focuses on its green message.

d.Provide a green discount across all of its product range.

A.a, b, candd.

B.a,bandc.



C.candd.

D.aand b.

Correct Answer: D

QUESTION 8

Which of the following BEST describes the function of a Cost Benefit Analysis?
A. Weighing skills against budgets to prioritise the order of projects.

B. Weighing costs against benefits to determine the best course of action.

C. Weighing benefits against timescales to determine quick wins.

D. Weighing costs against benefits to secure senior management buy-in.

Correct Answer: B

QUESTION 9

How much energy is used by monitor when displaying a PC screen saver?
A. The same as a standard office application.

B. Half the power of a standard office application.

C. One third the power of a standard office application.

D. Twice the power of a standard office application.

Correct Answer: A

QUESTION 10

Which of the following is a Framework that can be used to implement Green IT systems?
A. The IT Infrastructure Library.

B. The Environmental Systems Method.

C. The Green Data Centre Toolkit.

D. The Custom Development Framework.

Correct Answer: A

QUESTION 11



Which of the following are business benefits of replacing paper-based work processes?
a) Performance Management Policy.

b) Sustainability Policy.

c¢) Equal Opportunities Policy.

d) Environmental Policy.

A. c and d only.

B. a, b and c only.

C. b, c and d only.

D. a and d only.

Correct Answer: B

QUESTION 12

The Carbon Footprint comprises of both direct and indirect emissions. Which of the following is an indirect emission?
A. Travelling to the office.

B. Opening a spreadsheet.

C. Disposing of a server.

D. Printing out a report.

Correct Answer: C
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